
Report problem

Do the exercise for Lecture 11 (attached below).

If you wish, you may also do some of the exercises

listed on the course website

https://member.ipmu.jp/kentaro.hori/Courses/QFTII/

or create your own problems and solve them.

Deadline: January 14, 2024
Submit your report via ITC-LMS.
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Computation of the one-loop integrals

We would like to compute regularized versions of
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,

for

① momentum cut-off
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③ dimensional regularization : 4 m d= 4-E
.

Exercise Do the computation.

(Option 1) Explain the steps marked in the following.

(Option 2) Do it in your own way,
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Determination of the one-loop counter terms


